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Cluster: 0128 mmp; resid: 0.10; r/c: 8/38

x.range

upstream meme PSSM #1; e=10

1 2 3 4 5 61 2 3 4 5 61 2 3 4 5 61 2 3 4 5 61 2 3 4 5 61 2 3 4 5 6

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=21

1 2 3 4 5 6 7 81 2 3 4 5 6 7 81 2 3 4 5 6 7 81 2 3 4 5 6 7 81 2 3 4 5 6 7 81 2 3 4 5 6 7 81 2 3 4 5 6 7 81 2 3 4 5 6 7 8
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rpl4lp

rpl3p
rplW

rps19p

rpl2p

rpl15

MMP1207

MMP0062

string
operons −200 −100 −1

50S ribosomal protein L31e: MMP0062−2.39

50S ribosomal protein L3P: MMP1543−2.60

50S ribosomal protein L4P: MMP1544−2.60

50S ribosomal protein L23: MMP1545−2.60

50S ribosomal protein L2P: MMP1546−2.60

30S ribosomal protein S19P: MMP1547−2.60

50S ribosomal protein L15e: MMP0298−2.64

30S ribosomal protein S6e: MMP1207−2.64

log10(P) upstream meme1 2 log10(P.clust)=−2.58; 8 seqs; 4 uniq
c(0.5, 2.5)
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